


G2-M5-Lesson 1

1. Complete each more or less statement.
a. 10lessthan175is 165.

b. 100 more than 308 is 408.
¢. 788is 100 less than 888.
d. 607 is 10 more than 597.

2. Complete each regular number pattern.
a. 565,575,585, 595, 605, 615
b. 624,524, 424,324, 224,124, 24

c. 886,876,866, 856,846, 836

_—7

1know 846 is 10 less than
"856. 856 — 10 = 846. It's
just like taking away a tens
disk on the place value chart.

3. Complete each statement.

~10 -100 +10 +10
a. 609 — 599 — 499 — 509-—5519

-10 -10 +100 +10 +100
b. 517 — 507 — 497 — 597 - 607 — 707

I can use place value language to
explain the change. 10 more and 100
more is the same as adding. 10 less and
100 less is the same as subtracting.

I study the numbers and look for the
more or less pattern. | know 24 is 100
less than 124, so 24 + 100 = 124.
Then, 124 + 100 = 224, and so on.

Module 4. The arrow way can
show a change in the ones, tens,
or hundreds place, and it shows
whether it’s more or less. So,

in the tens place!

4. Solve using the arrow way.

220 + 515 =735

+100 +100 +10 +10
515 — 615 — 715 — 725 — 735

I remember the arrow way from \

517 — 10 = 507. That’s a change

y

I start with the part, 515, and add
hundreds first until | get to 715.
Then, | add tens until | get to 735.
100+ 100 4+ 10+ 10 = 220.

EUREKA Lesson 1: Relate 10 more, 10 less, 100 more, and 100 less to addition and subtraction of 10

MATH'- and 100.
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G2-M5-Lesson 2

1. Solve each addition problem using place value strategies. Use the arrow way or mental math, and record
your answers. You may use scrap paper if you like.

a. 400+374=1774

-
To solve 400 + 374, | just add like units!
4 hundreds + 3 hundreds = 7 hundreds. The ones

b. 126 +600 = 726 and tens digits stay the same, so the total is 774.

600 225 70028 726 '
— | use the arrow way to solve + 600 = 726.

| begin at 600 and add 1 hundred to get to 700.
Then, laddon 26. 100 + 26 = 126.

2. Solve each subtraction problem using place value strategies. Use the arrow way or mental math, and -
record your answers. You may use scrap paper if you like.

a. 431-300=131

The number in the hundreds place got smaller
by 3. The other part must be 300 because
b. 862 —200 =662 4 hundreds minus 3 hundreds equals 1 hundred.
- The other digits stay the same.

+200
662 —— 862

I know the 2 parts, but | don’t know the whole.
I use the arrow way and think of addition to
solve: 662 + 200 = 862.

3. Fillin the blanks to make true number sentences. Use place value strategies, number bonds, or the arrow

way to solve.
a. 400 less than 842 is 442. I draw a number bond to break apart
842 — 400 842. | subtract 400 from 800, which
/\ is 400. Then I add 400 to the other
800 — 400 = 400 part, s0 400 + 42 = 442,
800 42

400 +42 =442

b. 700 less than 962 is 262.

300 more than 545 is the same as
545 4+ 300. 500 + 300 = 800.

c. 300 more than 545 is 845. The ones and tens stay the same.

94 Lesson 2: Add and subtract multiples of 100, including counting on to subtract.
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G2-M5-Lesson 3

1. Solve the set of problems using the arrow way.
440 4+ 300 = 740

200 300 more than 440 is 740. 1| just add like units, 4 hundreds plus
+
440 — 740 3 hundreds is 7 hundreds. The tens and ones stay the same.

440 + 360 = 80O To add 360, | add in chunks—hundreds first and then

+300 +60 tens. 4 tens + 6 tens = 10 tens, or the next hundred!
440 —— 740 — 800

440 + 380 = 820 The second problem helps me solve this one.
380 is just 20 more than 360. | use the arrow
440 1309 740 +_60> 800 = 820 way to add 20. Now, the total is 820.

2. Solve using the arrow way or mental math. Use scrap paper if needed.
430+ 290 = _ 720 660 4+ 180 = 840 370 + 270 = 640

420 10

+100 » +40 +40
660 — 760 — 800 — 840

I can solve in my head! 3 hundreds
plus 2 hundreds is 5 hundreds. | know
7 tens plus 7 tens is 14 tens, or 140.

| can think: 500 4+ 140 = 640.

| made a number bond on scrap paper. 290 is close
to the next hundred, it just needs 10 more. | broke
apart 430 into 420 and 10. [ add 10 to 290 and
now can solve 420 + 300 in my head.

The first problem can help me solve this
one. | notice that 67 tens is 1 more ten
than 66 tens. 28 tens is 1 more ten than
27 tens. That means the answer must be -
2 more tens than 93 tens!

This is similar to adding 66 and 27, except the units
are tens! 6 tens and 7 tensis 13 tens. 60 tens and
20 tens is 80 tens. 13 tens + 80 tens = 93 tens.

3. Solve.
66tens + 27 tens=_93 tens 67 tens + 28tens=_95  tens

What is the value of 85 tens? _ 850

P

et b

EUR!KA Lesson 3: Add multiples of 100 and some tens within 1,000. 95

MATH
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G2-M5-Lesson 4

1. Solve using the arrow way.

760 — 400 = 360 | just subtract like units, 7 hundreds minus 4 hundreds is
- 3 hundreds. The tens and ones stay the same.

—-400
760 — 360

To subtract 460, 1 first take away the
760 — 460 = 300 hundreds and then tens to make it easier!

—400 -60
760 — 360 — 300
The other problems help me solve this one. First,
760 — 480 = 280 I subtract 400 and then 60 to get to the closest
hundred, and now | subtract 20 more. So, | take
away 480 in all, one chunk at a time.
~400 -60 -20
760 — 360 — 300 — 280

2. Solve using the arrow way or mental math. Use scrap paper if needed.

-200 -40 —200 ~40 —-50
640 — 440 — 400 640 — 440 — 400 — 350

| subtract in two steps. First, | can use the last problem to I subtract 290 in chunks:
| take away the hundreds and help me. In my head, | subtract 200, then 40, and then
then the tens. 640 minus 200 10 more from 400 since 250 is 50. Inthe last step,

is 440. 440 minus 40 is 400. just 10 more than 240. I subtract 50 to get to

350.

©2015 Great Minds. eureka-math.org
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MATH

| know that 88 tens minus 20
tens is 68 tens. Then, 68 tens
minus 8 tens is 60 tens. Now,
| just take away another ten.

So, | have 59 tens.

Solve.

88tens — 29tens = 59 tens

ﬂ could also think of it like

this: 88 tens minus 28 tens
is 60 tens. Since 29 tens is
1 more than 28 tens, the
answer must be 1 less than

60 tens.

84 tens — 28 tens =

What is the value of 56 tens? 560

Lesson 4:

Subtract multtiples of 100 and some tens within 1,000.

©2015 Great Minds. eureka-math.org
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/I subtract a total of 28 tens,
one chunk at a time. 84 tens
minus 20 tens is 64 tens.
Now, | take away 4 tens, so |
have 60 tens and then 4 more

tens, which makes 56 tens.

/

56 tens

B s




G2-M5-Lesson 5

When | have a zero in the ones place, | can

1. Solve. think of the number as “some tens”!
43 tens=_430
24tens+19tens=_43 tens 25tens+29tens=_54 tens

20, so | add 24 tens + 20 tens = 44 tens. Since there are only 29 tens, | subtract

This is similar to 24 + 19 except | am adding I can use the same idea as the last
tens instead of ones! 19 is just 1 away from problem! 25 tens + 30 tens = 55 tens.
Then, | subtract 1 ten and get 43 tens. 1 ten and get 54 tens.

2. Add by drawing a number bond to make a hundred. Write the simplified equation and solve.

a. 330+180
/\ ’ I can use a number bond to add when one \
310 20 number is close to the next hundred. 180 is
close to 200. I need 20 more. | can get it from
310 + 200 =__510 the 330. | break apart 330 into 310 and 20.
Now my problem is 310 + 200, which is easier
to solve. Ican just count on 2 hundreds. /
b. 153+ 499
/\ 499 is only 1 away from 500. | can decompose
152 1 153 into 152 and 1. Then, | add the 1 to 499 to
152 + 500 = 652 get 500. My new addition problem is

152 + 500 = 652.

c. 6954178
/\ 695 is closer to the next hundred than 178.
5 173 I break apart 178 into 5 and 173. 1 give 5 to
695,50 700+ 173 = 873.
700 + 173 = 873

98 Lesson 5: Use the associative property ta make a hundred in one addend. EUREKA

MATH
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G2-M5-Lesson 6

1. Draw and label a tape diagram to show how to simplify the problem. Write the new equation, and then

subtract.
a. 570 —380 = 590 — 400 _ 190 It’s easier to take away hundreds! \
if | add the same amount, 20, to each
L 20 570 number, | have a simpler probiem.
This is called compensation! Now,
120 380 | can easily subtract 400 from 590.
b. 450—170=__ 480200 =__ 280 | see that 170 is close to 200. 1 add
30 to each number, so the difference
+ _3"() 450 stays the same. My new problem is
' 480 — 200.
+30 170 /

2. Draw and label a tape diagram to show how to simplify the problem. Write a new equation, and then
subtract. Check your work using addition.

’~
a. 483 —299 = 484 — 300 = 184 I check my work by adding the
2 parts. The sum should be 484.

Check:

+1 483

+1 299 |

| only need to add 1 to each number to make this
problem easier! If1add 1 to both numbers, | can subtract
only hundreds, instead of hundreds, tens, and ones!

184 + 300 = 484

This is much easier than the
vertical form because | don’t
have to rename! |just add

2 to both numbers, and then
I can solve in my head!

b. 776 — 598 = 778 — 600 =
Check:
+2 776 178+ 600=778
+ 2 598
S R T B S s
Eu REKA Lesson 6: Use the associative property to subtract from three-digit numbers and 99

MATH'- verify solutions with addition.
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G2-M5-Lesson 7

295

1. Solve each problem with a written strategy such as a tape diagram, a number bond, the arrow way, the

vertical form, or chips on a place value chart.

780 — 390 =_390 331 + 600 =931

+10 780

+300 +31
600 — 900 — 931

+ 10 390

f390 is only 10 away from 400.
| draw a tape diagram to show
how I add 10 to both numbers
so the difference stays the
same. My new problem is

| use the arrow way to add
in chunks. First, | add

3 hundreds to get to 900.
Then, 1 add 31 more to get
to931. 300 + 31 = 331

(90 — 400 = 390.

/

2. Use the arrow way to complete the number sentence.

280 = 560 — 280

+ 20| 560

280

+ zol

I use compensation and add
20 to both numbers. So, my
easier problem is

580 — 300 = 280. I don’t
have to unbundle a hundred!

820 — 340 = 480

| use the arrow way to subtract hundreds and then
tens. When | get to 520, | subtract 20 to get to

-300 —20 -20
820 —— 520 — 500 — 480 the hundred and then 20 more to get to 480.

3. Solve 447 + 398 using two different strategies.

d.
447 + 398 = 845

/\

445 2
445 + 400 = 845

447 + 398 = _845

+300 +3 +50 +40 +5
447 — 747 — 750 — 800 — 840 — 845

c. Explain which strategy is easier to use when solving and why.

it is much easier for me to solve with a number bond because 398 is only 2 away from the next

hundred. The arrow way takes a long time, and | have to make sure | don’t miss any parts of

the number 398. The number bond has a lot fewer steps!

Share and critique solution strategies for varied addition and subtraction
problems within 1,000,

100
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G2-M5-Lesson 8

1. Solve the following problems using your place value chart, place value disks, and vertical form. Bundle a
ten or hundred when necessary.

516 + 224 | write the problem in T T TN, EECEE
vertical form and model @
both addends with my o) DO 0000
5 1°6 place value disks.
+ 2 2 4 $
®
6 ones plus 4 ones is 10\ e
5 1 6 )
+ 2 2 4 ones, or 1 ten 0 ones.
s | record this in vertical
0 form on the line below
the tejns place by ﬁfs.t Next, | add the tens and then the
5 1 6 showur.lg the new unit of hundreds. 1 ten plus 2 tens plus
L 2 2 4 ten using new groups 1 more ten is 4 tens. 5 hundreds plus
- e below. Then, | write 2 hundreds is 7 hundreds.
7 4 -0 0 below the ones placej 516 4 224 = 740
2. Solve. ("

Easy! 600 + 100 = 700.

Then | add on 80, so 780.
a. 600+ 180=_780 \

-

I can break 620 into 600 and 20 to make an easier
problem to solve. When | add the 20 to 180 | get
b. 6/2\0 +180=_800 <\200, and 600 + 200 = 800, so 620 + 180 = 800.

600 20

600 + 200 = 800
80+ 20 =100
800 + 100 =900

c. 680+ 220=_900

800 100

d. 6804 230=_910

Part (c) helps me solve this one. The first addend, 680,
is the same. 230 is just 10 more than 220. That
means the answer must be 10 more than 900, or 910.

R R R R s

!u KA Lesson 8: Relate manipulative representations to the addition algorithm. 101
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G2-M5-Lesson 9

1. Solve the following problems using your place value chart, place value disks, and vertical form. Bundle a
ten or hundred when necessary.

346 + 278

I show each step with the place value disks CTT) @@@@ @@(CCD@

. ) =<
in the vertical form. When | make a new ~

unit, | show it with new groups below ©9@ @1—0’@@@ 20000
’ ‘ 00 DOC

3 4 6 When [ add the ones, | have
+ 2 7 8 14 ones, or 1 ten 4 ones.
—_— e I change 10 ones for 1 ten.
4
K 1‘3,G°\' 10 @
Next, | add 4 tens plus 7 tens (0
3 4 6 plus 1 more ten. That's 12
+ 2 7 8 tens, or 1 hundred 2 tens.
—_—y
2 4 I change 10 tens for 1 hundred. ,‘
3 4 6 (@9io0)
t 2 7 8 Now | have 6 hundreds 2 tens
—_
6 2 4 4- ones. 346 + 278 = 624
2. Solve.
~
478 s close to 480; it only needs 2 more. I can take 2
a. 478+303 = 781 from 303 by breaking 303 into 2 and 301 to make an
A easier problem. 480 + 301 = 781, so 478 + 303 = 781. J
2 301
b. 478+ 323 = _801 Part (a) helps me solve this problem. 323 is just 20 more
than 303, so the answer must be 20 more than 781.
I count on 2 tens from 781. 781,791, 801. J

= e S e
102 Lesson 9: Relate manipulative representations to the addition algorithm. EUREKA

MATH
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G2-M5-Lesson 10

Solve using vertical form, and draw chips on the place value chart. Bundle as needed.

306 + 596 = _902

| show each step | make hundreds tens ones
with chips vertically using 'Y
new groups below.
oooeco |00
3 0 o6 o0 ®
4+ 5 9 6 .M_\ ®
I M
9 0 2 1 draw chips to show each

addend. I draw 3 chips in
the hundreds place, 0 chips
in the tens place, and 6
chips in the ones place to
represent 306. Since | am
adding, 1 also draw chips to

\show 596. )

The place value chart and
the vertical form both
show the same thing:
there are 9 hundreds

0 tens 2 ones. That's 902.

6 ones plus 6 ones is 12 ones, or 1 ten 2 ones.

I bundle 10 ones to make 1 ten. Now | add the
tens. 9 tens plus the new ten is 10 tens. | can

bundle again! 10 tens makes 1 hundred.

SRR

Lesson 10: Use math drawings to represent additions with up to two compositions 103
and relate drawings to the addition algorithm.
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G2-M5-Lesson 11

Solve using vertical form, and draw chips on the place value chart, Bundle as needed.

276 +324 = _600

I draw chips to
represent each
addend.

hundreds
o0
2 7 6
+ 3 2 4
—g L X X )
6 0 0 Py L

Renaming the tens is just like renaming the
ones. | have to look for 10 of a unit to make
the next higher value unit. S0, 10 ones make
1ten, and 10 tens make 1 hundred!

My chip model matches the vertical
form. | bundled twice, and | show the
New units with new groups below.

104 Lesson 11: Use math drawings to represent additions with up to two compositions Eu RE

and relate drawings to the addition algorithm. M ATH
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G2-M5-Lesson 12

1. Solve 246 + 490 using two different strategies.

a. 246+ 490 =736

490 + 10 = 500
500 + 236 =736

490 is close to 500; it just needs 10 more,
so | make the next hundred by breaking
246 into 236 and 10. This is the easiest
strategy because it’s easy to add 5
hundreds to 236.

I could also draw a chip model, but
that would take longer, so it’s not as
efficient as using a number bond.

2. Choose the bést strategy and solve. Explain why you chose that strategy.

a. 499+ 367 =866
VAN The best strategy is to make the next hundred to make an easier problem
1 366 to solve. 499 needs just 1 more to be 500. Then, it's easy to add what’s
left, 366. 500 + 366 = 866, s0 499 + 367 = 866. That’s why it’s
important to always look for relationships between the numbers.

b. 534+ 110 = 644
—_— | can solve this one mentally by adding

like units. 500 4+ 100 = 600, and
34 4+ 10 = 44, s0 600 + 44 = 644.

c. 695+ Ej}{= 943 /,At first, 1 thought | needed to use the chip model and
5 243 vertical form because | can see | need to rename twice.

But then I looked more carefully! I see that | can make the
next hundred, so | break apart 248. 695 + 5 = 700, and
700 + 243 = 943, 50 695 + 248 = 943,

R R O R S O R e e

S e i

EUREKA Lesson 12: Choose and explain solution strategies and record with a written addition method. 105

MATH
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GZ'MS'LESSOH 13 I can use 180 — 30 to help me solve 180 — 29. Since the
difference in the first problem is 150, the difference in
the second problem must be 1 more than 150 because

I am subtracting 1 less.
1. Solve using mental math.

8-3=_5 80-30=_50 180 —-30=_150 180 -29 = 151

2. Solve using mental math or vertical form with place value disks. Check your work using addition.

I can use mental math to solve because there’s no renaming.
| just subtract like units. 200 — 100 = 100, 20 — 20 = 0,
and3—1=2. 100+ 2 =102,50223 —121 = 102. I can
check my work by adding: 102 4+ 121 = 223.

a. 223-121=_102

b. 378-—119=_259

| can solve this one mentally, too +1 378
using compensation. If | add 1 to

each number, I make a ‘problem

\

that’s easier to solve, 379 — 120. +1 119 I know that part plus _
There’s no renaming, so I just part -equals whole, so if
subtract like units. The answer is I'm right, 2159 + 11?1
259, must equal 378. When
¥ 2 5 9 | check my work, | see
+ 1 19 that I'm right! /
—_
3 7 8

The model shows the whole,
342. 2 hundreds 2 tens

3. Complete the number sentence modeled by place value disks. 5 ones are crossed off. That's
225. That means the number

“@ oe‘k‘ sentence is 342 — 225 = 117.
N AN ZAAIANG | can check to see if I’'m right

by adding 117 and 225. J

342 — 225 =117

s

106 lesson13: Relate manipulative representations to the subtraction algorithm, and
use addition to explain why the subtraction method works.
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G2-M5-Lesson 14

1. Solve by drawing place value disks on a chart. Then, use addition to check your work.

741 — 448 Solve vertically or mentally: | Check:

, 2 9 3

— 4748 + 4 4 8
——

2 9 3 7 4 1

The vertical form shows what 1 did with the place value disks.
| can't subtract 8 ones from 1 one, so | unbundle a ten. Now
| have 7 hundreds, 3 tens, 11 ones. | can’t subtract 4 tens from
3 tens, so | decompose 1 hundred. Now | have 6 hundreds and
13 tens. I’'m ready to subtract!

I can check my
work by adding the
parts to see if they
equal the whole.

2. If584 — 147 = 437, then 437 + 147 = 584. Explain why this statement is true using numbers, pictures,
or words.

1 can prove that it’s

true with a chip ]
model. The parts, 437 hundreds % Hereis 437. ]
and 147, are inside
the whole, 584. eoeoe % Here is 147. }
L
When | add the
5 parts, they equal

the whole, 584.

Lesson 14: Use math drawings to represent subtraction with up to two 107
decompositions, relate drawings to the algorithm, and use addition to
explain why the subtraction method works.
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G2-Mb5-Lesson 15

1. Solve by drawing chips on the place value chart. Then, use addition to check your work.

721 —-485 Solve vertically or mentally: | Check:
hundreds |  tens ones
eoeeejoy
— ]
2
- 4 8 5 + 4
(2 o 4 ] B —
2 3 6 7

/

(The vertical form shows what I did with the chips. | can’t
subtract 5 ones from 1 one, so | unbundle a ten. Now | have
7 hundreds 1 ten 11 ones. | can’t subtract 8 tens from 1 ten, so

I decompose 1 hundred. Now ! have 6 hundreds and 11 tens.
I'm ready to subtract!

| can add the parts
to see if they equal
the whole. My
answer, 236, is
correct!

2. Complete the if...then statement. Draw a number bond to represent the related facts.

1631 — 358 =273, then 358 =
+273 = 631, The number bond shows the

part—whole relationship.

ﬂknow that whole — part = part.
631 is the whole because it’s the

largest number. 273 is the part

I know, so | can subtract to find the

other part: 631 — 273 = 358, That —
also means that 358 + 273 = 631

because part + part = whole, 3 5 8

N

N 7o
w

108 Lesson 15; Use math drawings to represent subtraction withuptotwo
decompositions, relate drawings to the algorithm, and use addition to
explain why the subtraction method works. i
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G2-Mb5-Lesson 16

1. Solve vertically or using mental math. Draw chips on the place value chart and unbundle if needed.

a. 408—261= 147
hundreds

tens

The vertical form shows\
what I did with the chips.

ones

o0

b. 700—-568= 132
hundreds

00000

tens

| have enough ones to
908

subtract in the ones
place, but | need to
unbundle 1 hundred to

have enough tens in the
tens place. Now I'm
ready to subtract!

ﬂ see that both the tens \

and the ones are going

ones

0-0-0-0-0-
ow

N o

0000

® 0000

to need more. I can
unbundle a hundred in
one step. 1 hundredis
equal to 9 tens 10 ones.
Now | have 6 hundreds
9 tens 10 ones. | show
this with my chips and in
the vertical form. Now,

I am ready to subtract. /

2. Emily said that 400 — 247 is the same as 399 — 246. Write an explanation using pictures, numbers, or

words to prove Emily is correct.

| can use the arrow way to

/Ican use compensation.
| notice that 400 is just

I can explain two different ways! ]

show that the difference is the
same. 400 — 247 = 153, and

399 — 246 = 153.

1 more than 399, and
247 is just 1 more than +1

399

\\/

246. So, the difference

for each problem must

be the samel +1

246

Lesson 16:

©2015 Great Minds. eureka-math.org
G2-M1-HWH-1.3.0-07.2015
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-200 —40 -7
400 — 200 — 160 — 153

—-200 -40 -6
399 —199— 159 — 153

Ll L

Subtract from multiples of 100 and from numbers with zero in the tens place. 109




G2-M5-Lesson 17

Solve vertically or using mental math. Draw chips on the place value chart and unbundle if needed.

a. 500-—-231= 269 / \
I see that both the t
hundreds | © e tens

tens |__ones and the ones are going to
oo0oNQ need more. | can
unbundle a hundred in
: :_:_:‘ one step. 1 hundred is
00000 equal to 9 tens 10 ones.
00000 Now | have 4 hundreds
9 tens 10 ones. | show
this with my chips and in
the vertical form. |1 am
ready to subtract. /
b. 902-306=_596
hundreds tens | ones \
Y Y YY) C X ) I change 1 hundred for
0-0-0 N 9 tens 10 ones. Now
‘\* X X X I ) I have 8 hundreds 9 tens
o000 ®O®8O® | 1)ones. | show my work
e-0-0-0-0 with the chips and in the
vertical form. | am ready
to subtract.
hundreds
I can check my work 5 9 6
using addition. + 3 0 6
596 + 306 = 902 S —
9 0 2

110 lesson 17: Subtract from multiples of 100 and from numbers with zero in the tens pl
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G2-M5-Lesson 18

1. Use the arrow way and counting on to solve.

300-164=136 164-3170 —2200 -2 300

| added 6 4 30 + 100. That equals
The arrow way is efficient. | add 136. S0 300 — 164 = 136.

ones, tens, and hundreds to get to
benchmark, or friendly, numbers.
That makes counting on easy!

2. Choose a strategy to solve, and explain why you chose that strategy.

\

500 — 280 =220 Compensation works best for this

problem because | notice 280 is
+20 500 close to 300. It's easy to subtract
300, so | add 20 to each number.
+20 280 That makes a problem that’s easier
to solve, 520 — 300 = 220. So

500 — 280 = 220. /

3. Explain why 400 — 173 is the same as 399 — 172.

\

I can explain by using compensation
like | did for Problem 2, except this
-1 400 time I'll subtract. When | subtract
1 from each number in 400 — 173,
) 173 | see that the expression becomes
- 399 — 1721

J

400—-173 =399 — 172

& R R e i e e s s e G
EUREKA Lesson 18: Apply and explain alternate methods for subtracting from multiples of

MATH'- 100 and from numbers with zero in the tens place.
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Solve and explain why you chose that strategy.

a.

b.

C.

d.

580+ 230 =_810
N

310+ _333 =643

643 — 310 = 333

900 — 327 =_573

+3 +70 +500
327 — 330 — 400 — 900

802 —-698 =_104

[ notice | can make the next hundred
because 580 is close to 600. | break
apart 230 into 20 and 210. 600
more than 210 is easy, 810.

J

To find a missing addend, | can subtract. If| subtract \
one part from the whole, the answer is the missing part.

I rewrite the problem as 643 — 310. There’s no

renaming so | just subtract like units, hundreds from
hundreds, tens from tens, and ones from ones.

+2

802

+2

698

R

Lesson 19:

©2015 Great Minds. eureka-math.org

The arrow way is easy because | just need to
reach a benchmark number, and then | can
skip-count quickly. 327 + 3 gets me to 330.
330 needs 70 to get to 400. Now | just add
500 to reach 900. Altogether, | added 573,
50 900 — 327 = 573.

/

I can use compensation. | notice that 698 is very\
close to 700, which is an easy number to

subtract. 1add 2 to 698 to get 700. What | do

to one number | must do to the other number,

so | add 2 to 802. Now | have an easier problem

to solve, 804 — 700. Easy! The answer is 104. /

AR

Choose and explain solution strategies and record with a written addition or EUREKA

subtraction method.

G2-M1-HWH-1.3.0-07.2015
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G2-M5-Lesson 20

1. Solve each problem using two different strategies.

295+ _239 =534

a. First Strategy

+5 +200 +34
295 —300—— 500 — 534

| can solve by counting on. 1 use the
arrow way to show what | add to
295 to reach 534.

200+34+5=239

b.

Second Strategy

hundreds I tens | ores

5 & sosely [ee} seee
oo

N LI

2 3 9 - 0-00=

| can also solve by using a
chip model, and | show my
work in vertical form.

2. Circle a strategy to solve and explain why you chose that strategy.

Number bond o w

843 — 698 = 145

+2 +100 +43
698 — 700 — 800 — 843

Lesson 20:

EUREKA
MATH

subtraction method.

©2015 Great Minds. eureka-math.org
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| chose the arrow way because | see
that 698 is close to 700. | just add 2.
From there, | can add 100 to reach
800. Then I just add 43 more to
reach 843.100 443 + 2 = 145

/

=

R

Choose and explain solution strategies and record with a written addition or




This page intentionally left blank

114




